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HHIT L7 —LidpT
L72oml  [ERT] 1,650 H = [kE%] 1,815 H
L1800ml [ciiEwT] 3,300 FH = [kE%] 3,630 M

UN-31 (Unfold * Undersong720ml %% 1 &%)
L [2EnT] 3,410 1 = [Ei] 3,454 [

0Y-44 (HERT RIS - 3" 720ml 4% 1 &)
L [ekEs] 4,840 1 = [2iEi] 5, 368 [

KA-30 (§0HE - 55 Z UHEE 720ml £ 1 A)
L [Eri] 3,300 1 = [ekEz] 3,498 1

KY-64 (B3 - 3 720ml %% 1 A)
L [2Enr] 7,040 1 = [SE%] 7,568 M

[EBHA] BRI ARY Fa— 5Kty b (AR

L [2Enr] 8,800 1 = [tE#] 9,014 M

KO-80 (G4l « HERT KIS 720ml 4% 1 A)
L [2Enr] 8,800 1 = [tkE#] 9,174 M
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L [S%ERT] 4,400 = [&ER] 4,477 1

KAZY X=2—/LD 3 AKE Y S6-45
L [Eni] 4,950 H = [EH%] 5,082 M
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